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76 = 9x + 202 — 3(Tx + )

et 8 — x— 5y — 2

2x + 9x+2(x_2x)_4x2

8x3 _x—7x2 + 6x2+2xZ

9x3 + 8x2 + 3x+ 3(7x3 _xz)

A5 A7

4(7x3 _ 4x) — 8x3 n x2 + o

8x° — 4x° — 3x° — 6x— Ox°

9x2 + 7x3 —3x+ 5x2 n ZxS

6x+ 8x° — 2(6x2 o+ 3
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Tx® = Ox + 2x% — 3(7x + Tx)
T+ 2 = Sl

At 85—y Sx— 22
8 — 22 — O

—4x” + Ox

8)53_35—7)62+6X2_’_2x2
8x3+x2_x

O + 8x% + 3x + 3(7x3 _xz)
30x° + 5% + 3x

aics:

Ox — 3x° — 2(7x3 B sz) .
—18x° + 16x% + 9x

4(7x3 — 4x) — &3 + 2 + Oy
20+ — T

8¢ — 4x> —3x° — 6x— 9x°

_ 8X3 o 6x

92 + 753 — 34 512 + 253
Ox’ + 14 — 3x

6x + 8_)(,‘3 —2(6x2 — 9x)+2x3
10x° — 127 + 24
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